1 IR EATEIFR A HETH AL E (AT T« %)
e HEIN=R
264 2THEE 284 264 2T 284 i

i my i 3t 3,803, 123 3,919, 069 4,039, 808 -1.0 3.0 3.1
) ] H 1% 1, 923, 455 2,000, 873 2,033, 592 -0.3 4.0 1.6
B S H Ik 226, 495 228, 600 232, 190 -1.2 0.9 1.6
A 1% s i by 738, 661 750, 812 743, 378 2.7 1.6 -1.0
JE N H 1% 914, 513 938, 779 1, 030, 649 -1.0 2.7 9.8
1] % il 921, 858 946, 466 964, 309 0.7 2.7 1.9
5 i T i 157, 351 163, 505 162, 043 -2.1 3.9 -0.9
S il il 83, 008 93, 563 93,218 -3.8 12.7 -0.4
T I il 71, 503 71, 326 75, 080 -0.2 -0.2 5.3
P o i 230, 109 246, 860 258,510 4.4 7.3 4.7
w B Ol 243,102 251,961 251, 631 4.5 3.6 -0. 1
J==2 i R i 50, 177 54, 104 51,961 -7.4 7.8 4.0
1L i my 25,578 25,579 25, 036 2.9 0.0 -2.1
Gy ] my 21,914 23,175 21,783 5.5 5.8 6.0
i 1t my 48, 338 50, 994 53,218 -4.8 5.5 4.4
[ii] ) T 13, 346 12, 680 14, 802 -0.6 -5.0 16.7
1] H my 17, 638 18, 108 17, 647 -0.3 2.7 -2.5
x T my 22,673 24,743 25, 800 -3.7 9.1 4.3
x b M my 16, 861 17, 809 18, 554 -3.5 5.6 4.2
Fen 23 il 135, 550 136, 514 137,810 0.2 0.7 0.9
4> il my 11, 856 11, 859 11, 955 -1.0 0.0 0.8
5 S iy 20, 213 20, 648 21, 694 -5.9 2.2 5.1
fit % iy 12,976 12, 635 12, 459 -1.2 -2.6 -1.4
=0 = JI| my 17, 602 17,991 19, 005 6.2 2.2 5.6
x 59 i 7, 301 7,538 7,513 -0.7 3.2 -0.3
fik ) i 11, 568 12,181 11,572 -0. 1 5.3 -5.0
= R i 9, 430 9,235 10, 182 -1.5 -2.1 10.3
>k R i 359, 873 361, 481 345, 293 4.3 0.4 -4.5
5 J: il 89, 772 94, 352 94, 129 0.4 5.1 -0.2
E2] ¢ i 93, 007 96, 650 98, 460 -0.0 3.9 1.9
= =) i) 67, 889 67, 781 71, 791 -4.9 -0.2 5.9
) [ii] g 39, 925 40, 382 40, 700 -3.5 1.1 0.8
N iy 29, 302 29, 521 30, 839 -3.1 0.7 4.5
H e my 37, 000 38, 105 38, 453 -0.3 3.0 0.9
R = i) 21, 894 22, 541 23,713 4.3 3.0 5.2
el fif] i 413, 691 417,729 495, 967 -3.6 1.0 18.7
i M i 390, 074 409, 645 415, 393 2.1 5.0 1.4
= )l iy 30, 428 30, 387 33, 463 0.4 -0. 1 10. 1
iR N iy 48, 632 48,748 52, 686 -1.3 0.2 8.1
iz e gy 31, 688 32, 270 33, 140 -3.5 1.8 2.7
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2 LB ATHETA R mET# RS (AT - B - %)
T HE R
264 2THEE 284 264 2T 284

i my i 3t 2, 880, 031 3, 000, 780 3,070, 056 -2.5 4.2 2.3
T 1] H Ik 1, 494, 898 1, 563, 040 1, 593, 658 -2.1 4.6 2.0
% S Hh §i 166, 139 172, 814 176, 311 -3.2 4.0 2.0
A 1) H 5k 535, 735 555, 885 560, 897 -3.0 3.8 0.9
E W Hh §i 683, 261 709, 042 739, 187 -2.8 3.8 4.3
1] % il 752, 424 783, 230 800, 439 -1.7 4.1 2.2
5 i T i 112, 626 118, 006 119, 297 -3.1 4.8 1.1
S il il 70, 748 74, 489 74, 392 -3.6 5.3 -0. 1
T I il 55,617 57,032 58, 582 -3.2 2.5 2.7
P o i 170, 877 181, 592 188, 713 -3.1 6.3 3.9
w B Ol 138, 781 147, 459 149, 585 0.1 6.3 1.4
J==2 i R i 34,514 36, 691 36, 784 6.7 6.3 0.3
1K i my 31, 501 32, 097 32,275 -0.5 1.9 0.6
aE ] my 25, 559 26, 409 26, 141 -0.7 3.3 -1.0
i 1t my 44,938 46, 727 47,294 -3.3 4.0 1.2
[iz) ) T 10, 989 11, 399 11,814 -5.4 3.7 3.6
1] H my 13,132 13, 392 13,318 2.7 2.0 -0.6
x T my 18, 587 19, 423 19,714 -2.4 4.5 1.5
x b M my 14, 602 15, 092 15, 309 4.1 3.4 1.4
Fen 23 il 92,415 95, 946 98, 327 -2.7 3.8 2.5
4 il iy 10, 084 10, 598 10, 740 -3.7 5.1 1.3
B S gy 17,017 17, 894 18, 058 -5.3 5.2 0.9
fit % i) 10, 262 10, 538 10, 653 4.6 2.7 1.1
=0 = JII my 14, 380 14, 872 15, 324 -0.4 3.4 3.0
x 59 i 5, 969 6, 196 6,171 -1.7 3.8 -0.4
fik JI # 8, 220 8, 706 8, 730 -4.2 5.9 0.3
= R i 7,789 8, 067 8, 307 6.2 3.6 3.0
>k R i 234, 455 242, 064 241, 758 -4.0 3.2 -0. 1
=3 J: il 69, 799 72, 829 73, 558 -2.2 4.3 1.0
E2] ¢ i 77,529 81, 361 82, 767 -1.9 4.9 1.7
= =) my 54, 558 56, 386 57,957 -2.8 3.4 2.8
) [ii] g 33, 220 33, 756 33,921 4.0 1.6 0.5
N iy 19, 450 20, 465 21,127 -0.9 5.2 3.2
H e my 30,974 32, 395 32, 594 -2.1 4.6 0.6
R = i) 15, 750 16, 628 17,216 -1.8 5.6 3.5
el fif] i 316, 000 326, 010 347,991 -3.2 3.2 6.7
i M i 273,771 286, 640 292, 204 -2.3 4.7 1.9
= )l iy 18,975 19, 773 21, 067 -1.4 4.2 6.5
iR N iy 45, 908 46,973 48, 255 -2.0 2.3 2.7
iz e gy 28, 609 29, 644 29, 670 4.1 3.6 0.1
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3 IURBRAMATH A — ASYhETH BT

(HZ: 5 H - %)

ESA HANF

264 2T 284 264 27 284 i
i my i 3t 254. 1 267.0 275. 8 -1.7 5.1 3.3
) 1 H 1% 270.0 283. 4 290. 6 -1.6 5.0 2.5
% S Hh §i 209. 5 221.9 230.9 -1.6 5.9 4.1
A i H g 246. 0 258. 6 264.5 -1.8 5.1 2.3
JE N H 1% 241. 8 253.7 267.6 -1.7 4.9 5.5
1] % il 297.2 308.6 316.0 -1.4 3.8 2.4
5 i T i 271. 1 286. 0 291.5 -2.6 5.5 1.9
S ] Ol 220. 8 236.0 238.9 -2.2 6.9 1.2
T i il 220. 6 231.0 240.9 -1.8 4.7 4.3
PN i il 274.5 292.0 303. 4 -3.1 6.4 3.9
" B Ol 290.9 308. 7 313.6 -0.4 6.1 1.6
=28 1t R Ol 199.3 216. 4 222.2 -4.2 8.6 2.7
1N i my 216.9 223. 4 226. 6 0.8 3.0 1.4
ax ] iy 222.5 232. 4 232.3 0.6 4.4 -0.0
) 1t iy 233.7 246. 6 251.8 -2.9 5.5 2.1
fif] ) iy 190. 3 202.3 214. 1 -3.4 6.3 5.8
1] H i 180.0 188.1 191. 4 -1.3 4.5 1.8
x iT iy 216. 4 229.3 236. 0 -0.5 6.0 2.9
x ) M iy 194. 6 205. 1 213.0 -2.1 5.4 3.9
Fen 23 il 247.3 260. 1 269.9 -1.7 5.2 3.8
4> il my 169.5 181.8 189.5 -2.1 7.3 4.2
% I iy 187.0 201.0 209. 1 -3.1 7.5 4.0
fit 2 iy 178.9 187.1 193.8 -3.2 4.6 3.6
=0 = ) my 171.0 182.8 192.5 1.4 6.9 5.3
x JE& Il 171. 1 181.6 185. 1 -0.3 6.1 1.9
fiE JI # 187.0 201.7 208. 7 -1.4 7.9 3.5
= N i 160. 1 169.0 178.3 4.0 5.6 5.5
b'S R il 269. 6 281.6 284.7 -3.2 4.5 1.1
5 J: il 248. 7 262. 4 268. 7 -0.8 5.5 2.4
E2] ¢ i 237.6 252.0 259. 0 -0.9 6.1 2.8
= ) my 226.5 236. 1 245. 7 -1.8 4.2 4.1
I ] my 206. 6 214.3 219.8 -1.8 3.7 2.6
/)N iy 240. 4 260. 1 272.6 1.5 8.2 4.8
H e my 214.5 228.5 235. 4 -0.3 6.5 3.0
o = T 211.0 227.7 239. 8 0.0 7.9 5.3
5 fif] Ol 241. 2 251.5 271.6 -2.1 4.3 8.0
i M i 254.9 269. 8 278.3 -1.4 5.8 3.2
= ) my 245. 6 255.9 274.2 -1.2 4.2 7.2
FE 4 iy 209. 2 216.8 225. 4 -0.9 3.6 4.0
il e my 197.5 208. 7 212.5 -2.3 5.7 1.8
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